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6.1 Practice Problems

A
1. For a -635° angle:
a) Draw the angle in standard position.
b) Convert the angle to radians.
¢) Find a positive and negative coterminal angle. ¢ Y
d) Name the reference angle in radians and degrees.  _ % = 5
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2. A minute hand on a clock is 9 inches. How far does a point on the tip of the minute hand travel from 5:20
pm to 6:45 pm? ~ .
35 _ o

Go ~Lm
t;‘ = ]lﬂ‘
[

3. A wheel with a diameter of 2 feet is rotating at 1400 rpms. For a point on the circumference of the wheel,
find its angular speed in radians per second and its linear speed in miles per hour.
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5. Determine the angular speed of a point on the earth around the axis on which the earth rotates in radians

per hour.
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6. A car tire has a diameter of 23 inches. Find the number of revolutions the tire makes per minute when the
. . . ',/__—
car is traveling at 60 miles per hour.
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7. Determine the linear velocity, in centimeters per second, of a point on a circle 1.2m from the center that

moves 250° in o inute. -
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8. A skater is skating around the edge of a circular pond at a distance of 6 m from the center. Her linear

velocity is 7.3 m/s.
(a) Determine her angular velocity in .radianslsecond.
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(b) How many revolutlons per m|? te does she go around the pond?
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9. A belt connects two pulleys. The larger has a radius 40 cm a Ehe—sméﬂ“e’r'ﬁgs radius 20 cm. The smaller
pulley revolves at a rate of 48 rpm. (a) Determine the linear velocity of the belt in cm/minute. (b) What is the

angular velocity of the larger pulley in radians per minute?
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